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QUESTION 1

Which of the following is NOT TRUE?

A. An index can be created on XML columns

B. Length must be specified for an XML column

C. XML columns can be added to existing tables

D. Triggers can be created on tables with XML columns

Correct Answer: D

QUESTION 2

Your current authorization ID is DBA. Only one of your secondary IDs, DB2, has the privilege to drop an existing index
DB2.AAA on a table. The appropriate SQL statement is "DROP INDEX AAA".

Which of the following statements must precede the DROP statement so that it drops the index?
A. SET CURRENT PATH = "DB2\\}

B. SET CURRENT RULES = "DB2\\;

C. No preceding statement is needed

D. SET CURRENT SCHEMA = "DB2\\;

Correct Answer: D

QUESTION 3

Which type of lock is obtained when using a "WITH UR\\' clause on an SQL SELECT statement in a data-sharing
environment?

A. U-lock
B. S-lock
C. P-lock
D. No lock is obtained

Correct Answer: D

QUESTION 4
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Which of the following SQL constructs does NOT provide information about the success or failure of the SQL statement
that was just executed?

A. SQLCA
B. SQLDA
C. SQLCODE
D. SQLSTATE

Correct Answer: B

QUESTION 5

Which of the following programming techniques can be used to check for any error codes after executing an SQL
statement?

A. Declaring a cursor

B. Using the WHENEVER statement

C. Using DCLGEN to produce declarations for tables

D. Dynamically executing a statement with parameter markers

Correct Answer: C
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